
Question not answered 
The correct option is "Mucking up his own planet"Score:- 4 
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General Aptitude 

 

Direction: Read the following passage. The question following it is based on its content. Select 
the best answer to below question, based on the content of the passage. 

 
What is it that people today fail to understand about what is happening to them? What is happening is 
that they are using up their planet at a fearsome rate and may soon pass the point where their total 
habitat can sustain human life. Man's world is slipping away from him. His habits, his thoughts, his actions 
run counter to the essentials of his existence. He has created national governments for the purpose of 
giving him maximum protection, but he has no way of protecting himself against the governments. In the 
act of contending with one another, the governments have become instruments of rare suicide and world 
holocaust. 
Most of what man does is irrelevant to his main problems; his ingenuity has been applied to everything 
except the need to make his planet safe for human habitation. He has cut into his natural environment 
with large slashes. His sources of food are being sealed over by the tar and cement of his cities and 
highways. Next to destructive force, he produces nothing in greater volume than his garbage. He has 
made his sky an open sewer and his rivers and lakes a poisonous brew. He has pumped his foul wastes 
into the seas and has stared balefully at billions of floating dead fish. 
Instead of fortifying his plants against insects with rich loam and compost, he has attacked them 
indiscriminately with chemicals, violating the chain of life and killing off the birds that are far more 
essential to his own spirit than many of his commodities. By going against nature, he has warred against 
beauty of line, movement and sound. He has been mucking up his own planet, but has the arrogance to 
go searching for life elsewhere in the universe. 
What has been happening to people that they don't understand is that they have made a geographical 
entity out of their world without a philosophy for ennobling it, a plan for conserving it, or an organization 
for sustaining it. Men crave to do good, to act reasonably and think decently. But goodness and decency 
and wisdom must have a world purpose in our time if life and thought are to have any meaning at all. 

 

Q) The passage condemns man for:- 

Mucking up his own planet 

Laying railway tracks 

Man's ingenuity 

Discovery of penicillin 
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Direction: Read the following passage. The question following it is based on its content. Select 
the best answer to below question, based on the content of the passage. 

 
What is it that people today fail to understand about what is happening to them? What is happening is 
that they are using up their planet at a fearsome rate and may soon pass the point where their total 
habitat can sustain human life. Man's world is slipping away from him. His habits, his thoughts, his actions 
run counter to the essentials of his existence. He has created national governments for the purpose of 
giving him maximum protection, but he has no way of protecting himself against the governments. In the 
act of contending with one another, the governments have become instruments of rare suicide and world 
holocaust. 
Most of what man does is irrelevant to his main problems; his ingenuity has been applied to everything 
except the need to make his planet safe for human habitation. He has cut into his natural environment 



with large slashes. His sources of food are being sealed over by the tar and cement of his cities and 
highways. Next to destructive force, he produces nothing in greater volume than his garbage. He has 
made his sky an open sewer and his rivers and lakes a poisonous brew. He has pumped his foul wastes 
into the seas and has stared balefully at billions of floating dead fish. 
Instead of fortifying his plants against insects with rich loam and compost, he has attacked them 
indiscriminately with chemicals, violating the chain of life and killing off the birds that are far more 
essential to his own spirit than many of his commodities. By going against nature, he has warred against 
beauty of line, movement and sound. He has been mucking up his own planet, but has the arrogance to 
go searching for life elsewhere in the universe. 
What has been happening to people that they don't understand is that they have made a geographical 
entity out of their world without a philosophy for ennobling it, a plan for conserving it, or an organization 
for sustaining it. Men crave to do good, to act reasonably and think decently. But goodness and decency 
and wisdom must have a world purpose in our time if life and thought are to have any meaning at all. 

 

Q) The author would strongly oppose:- 

A stronger United Nations 

A flight to Mars to search for life 

Organic farming 

Pollution control 
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Direction: Read the following passage. The question following it is based on its content. Select 
the best answer to below question, based on the content of the passage. 

 
What is it that people today fail to understand about what is happening to them? What is happening is 
that they are using up their planet at a fearsome rate and may soon pass the point where their total 
habitat can sustain human life. Man's world is slipping away from him. His habits, his thoughts, his actions 
run counter to the essentials of his existence. He has created national governments for the purpose of 
giving him maximum protection, but he has no way of protecting himself against the governments. In the 
act of contending with one another, the governments have become instruments of rare suicide and world 
holocaust. 
Most of what man does is irrelevant to his main problems; his ingenuity has been applied to everything 
except the need to make his planet safe for human habitation. He has cut into his natural environment 
with large slashes. His sources of food are being sealed over by the tar and cement of his cities and 
highways. Next to destructive force, he produces nothing in greater volume than his garbage. He has 
made his sky an open sewer and his rivers and lakes a poisonous brew. He has pumped his foul wastes 
into the seas and has stared balefully at billions of floating dead fish. 
Instead of fortifying his plants against insects with rich loam and compost, he has attacked them 
indiscriminately with chemicals, violating the chain of life and killing off the birds that are far more 
essential to his own spirit than many of his commodities. By going against nature, he has warred against 
beauty of line, movement and sound. He has been mucking up his own planet, but has the arrogance to 
go searching for life elsewhere in the universe. 
What has been happening to people that they don't understand is that they have made a geographical 
entity out of their world without a philosophy for ennobling it, a plan for conserving it, or an organization 
for sustaining it. Men crave to do good, to act reasonably and think decently. But goodness and decency 
and wisdom must have a world purpose in our time if life and thought are to have any meaning at all. 

 

Q) The tone of the passage can best be said to be:- 

Question not answered 
The correct option is "A flight to Mars to search for life"Score:- 4 



Question not answered 
The correct option is "Have a goal for entire world"Score:- 4 

Question not answered 
The correct option is "Alarming concern"Score:- 4 

A sense of joy 

Concealed humour 

Alarming concern 

Unbridled anger 
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Direction: Read the following passage. The question following it is based on its content. Select 
the best answer to below question, based on the content of the passage. 

 
What is it that people today fail to understand about what is happening to them? What is happening is 
that they are using up their planet at a fearsome rate and may soon pass the point where their total 
habitat can sustain human life. Man's world is slipping away from him. His habits, his thoughts, his actions 
run counter to the essentials of his existence. He has created national governments for the purpose of 
giving him maximum protection, but he has no way of protecting himself against the governments. In the 
act of contending with one another, the governments have become instruments of rare suicide and world 
holocaust. 
Most of what man does is irrelevant to his main problems; his ingenuity has been applied to everything 
except the need to make his planet safe for human habitation. He has cut into his natural environment 
with large slashes. His sources of food are being sealed over by the tar and cement of his cities and 
highways. Next to destructive force, he produces nothing in greater volume than his garbage. He has 
made his sky an open sewer and his rivers and lakes a poisonous brew. He has pumped his foul wastes 
into the seas and has stared balefully at billions of floating dead fish. 
Instead of fortifying his plants against insects with rich loam and compost, he has attacked them 
indiscriminately with chemicals, violating the chain of life and killing off the birds that are far more 
essential to his own spirit than many of his commodities. By going against nature, he has warred against 
beauty of line, movement and sound. He has been mucking up his own planet, but has the arrogance to 
go searching for life elsewhere in the universe. 
What has been happening to people that they don't understand is that they have made a geographical 
entity out of their world without a philosophy for ennobling it, a plan for conserving it, or an organization 
for sustaining it. Men crave to do good, to act reasonably and think decently. But goodness and decency 
and wisdom must have a world purpose in our time if life and thought are to have any meaning at all. 

 

Q) The passage brings out that man's craving for doing good, acting reasonably and thinking decently is 
not enough unless these qualities:- 

Build friendship between humans 

Have a goal for entire world 

Are implemented quickly 

Help in avoiding conflict 
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Direction: Read the following passage. The question following it is based on its content. Select 
the best answer to below question, based on the content of the passage. 



Question not answered 
The correct option is "Go against the basics of this existence"Score:- 4 

What is it that people today fail to understand about what is happening to them? What is happening is 
that they are using up their planet at a fearsome rate and may soon pass the point where their total 
habitat can sustain human life. Man's world is slipping away from him. His habits, his thoughts, his actions 
run counter to the essentials of his existence. He has created national governments for the purpose of 
giving him maximum protection, but he has no way of protecting himself against the governments. In the 
act of contending with one another, the governments have become instruments of rare suicide and world 
holocaust. 
Most of what man does is irrelevant to his main problems; his ingenuity has been applied to everything 
except the need to make his planet safe for human habitation. He has cut into his natural environment 
with large slashes. His sources of food are being sealed over by the tar and cement of his cities and 
highways. Next to destructive force, he produces nothing in greater volume than his garbage. He has 
made his sky an open sewer and his rivers and lakes a poisonous brew. He has pumped his foul wastes 
into the seas and has stared balefully at billions of floating dead fish. 
Instead of fortifying his plants against insects with rich loam and compost, he has attacked them 
indiscriminately with chemicals, violating the chain of life and killing off the birds that are far more 
essential to his own spirit than many of his commodities. By going against nature, he has warred against 
beauty of line, movement and sound. He has been mucking up his own planet, but has the arrogance to 
go searching for life elsewhere in the universe. 
What has been happening to people that they don't understand is that they have made a geographical 
entity out of their world without a philosophy for ennobling it, a plan for conserving it, or an organization 
for sustaining it. Men crave to do good, to act reasonably and think decently. But goodness and decency 
and wisdom must have a world purpose in our time if life and thought are to have any meaning at all. 

 

Q) The author's view on man's thoughts, habits and actions are that:- 

Run counter to the theory of relativity 

They assist in the process of revolution 

Go against the basics of this existence 

They contribute to financial success 
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A can have a piece of work done in 8 days, B can work three times faster than the A, C can work five 
times faster than A. How many days will they take to do the work together? 

4 days 

8/9 days 

3 days 

10 days 
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A car travels a certain distance taking 7 hrs in forward journey, during the return journey increased speed 
12km/hr takes the times 5 hrs. What is the distance travelled? 

Question not answered 
The correct option is "8/9 days"Score:- 4 



Question not answered 
The correct option is "Application Software"Score:- 4 

Question not answered 
The correct option is "Gullible"Score:- 4 

30 kms 

20 kms 

210 kms 

None of the above 

 
8 of 90 
106 AWES_Dec2015_Part A_Set 1 
General Aptitude 

 

Direction: In the following question, select the choice whose meaning is opposite to the word 
shown in capitals for below question. 

 
INCREDULOUS 

Tolerable 

Gullible 

Creditable 

Vicious 
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A collection of various programs that helps control your computer is called . 

Outlook 

Excel 

System Software 

Application Software 
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In a class, except 18 all are above 50 years. 15 are below 50 years of age. How many people are there? 

36 

30 

33 

None of the above 
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Question not answered 
The correct option is " None of the above"Score:- 4 

Question not answered 
The correct option is "30 kms"Score:- 4 
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Union HRD Minister Smt Smriti Irani laid the foundation stone of "Indian Institute of Management" in the 
state of Andhra Pradesh. The Institute is being set up in . 

Tirupathi 

Nellore 

Guntur 

Vishakhapatnam 
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Select a suitable figure from the four alternatives that would complete the figure matrix. 

 

 

4 

3 

1 

2 
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  are words that a programming language has set aside for its own use. 

Reserved Keys 

Control Structures 

Reserved words 

Control Words 
 Question not answered  

Question not answered 
The correct option is "2"Score:- 4 

Question not answered 
The correct option is "Vishakhapatnam"Score:- 4 



Question not answered 
The correct option is "Aircrafts"Score:- 4 

Question not answered 
The correct option is "WAN"Score:- 4 

 The correct option is "Control Words"Score:- 4  
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Which of the following terms is just the connection of networks that can be joined together? 

Internet 

Virtual private network 

Intranet 

Extranet 
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What do we call a network element that may be separated by some distance? It usually involves two or 
more networks and dedicated high speed telephone lines. 

WAN 

SERVER 

WWW 

LAN 
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Identify the incorrect plural. 

Sheep 

Swine 

Aircrafts 

Species 
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Email is delivered by which of the following? 

Postal Carriers 

Message Services 

Fax Machines 

Question not answered 
The correct option is "Virtual private network "Score:- 4 



Question not answered 
The correct option is "Menu"Score:- 4 

Question not answered 
The correct option is "Tennis"Score:- 4 

Question not answered 
The correct option is "Father "Score:- 4 

Computers 
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A family went out for a walk. Daughter walked before the father. Son was walking behind the mother and 
ahead of father. Who walked last? 

Daughter 

Son 

Father 

Mother 
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What sport is played at Wimbeldon? 

Tennis 

Chess 

Cricket 

Badminton 
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What is an on-screen display listing of available options or functions on a computer? 

View 

Document 

Menu 

Tool 
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Direction: Arrange the following sentences/phrases in a coherent sequence and select the 
corresponding choice. 

 
Jumbled sentences:- 

Question not answered 
The correct option is "Computers"Score:- 4 



Question not answered 
The correct option is "Science"Score:- 4 

Question not answered 
The correct option is "Landscape"Score:- 4 

Question not answered 
The correct option is "QONPM"Score:- 4 

M. And took him to hospital 
N. His friend came and 
O. He cried for help 
P. Killed the snake 
Q. A snake bit the gardener 

ONQPM 

NMOQP 

QPONM 

QONPM 
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Printing orientation that is wider than it is taller is:- 

Icon 

Portrait 

Landscape 

Page set 
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Which one of the following countries is said to be the Home of Direct Democracy? 

England 

Switzerland 

USA 

Italy 
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Study of improves a students' ability to experiment and analyse. 

Language 

Mathematics 

Science 

History 

Question not answered 
The correct option is "Switzerland"Score:- 4 



Question not answered 
The correct option is "Cheerful"Score:- 4 

Question not answered 
The correct option is "Bobsmith461@yahoo.com"Score:- 4 
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Select the email address from the following:- 

Www.bobsmith.com 

Bob Smith@yahoo.com 

Bobsmith461@yahoo.com 

Www.bobsmith.yahoo.com 
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Find the value of (0.75 X 0.75 X 0.75 - 0.001) ÷ (0.75 X 0.75 - 0.075 + 0.01). 

0.845 

2.312 

1.908 

0.001 
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Direction: Below the key word are given four suggested meanings. Choose the word or phrase 
which is most nearly the same to the keyword. 

 
JOCUND 

Flimsy 

Cheerful 

Cruel 

Laughable 
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When was the National Adult Education Programme (NAEP) launched? 

1986 

1978 

1964 

Question not answered 
The correct option is "0.845"Score:- 4 

mailto:Bobsmith461@yahoo.com
mailto:Smith@yahoo.com
mailto:Bobsmith461@yahoo.com


Question not answered 
The correct option is "Aristocracy"Score:- 4 

1972 
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Direction: In the following question, select the choice whose meaning is opposite to the word 
shown in capitals for below question. 

 
HOI POLLOI 

Aristocracy 

Tyranny 

Cannibalism 

The past 
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Learning in the mother-tongue helps a student to what is being taught. 

Reproduce 

Create 

Interpret 

Easily comprehend 
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The greatest important cause of failure in beginning for a teacher lies in the area of his/her:- 

Inter-personal relationship 

Communicative ability 

Organisational ability 

Personality and its ability to relate to the class and to the pupils 
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For a teacher teaching a class with large strength, which of the techniques is best? 

Self study and asking questions 

Question not answered 
The correct option is "Communicative ability"Score:- 4 

Question not answered 
The correct option is "Easily comprehend"Score:- 4 

Question not answered 
The correct option is "1978"Score:- 4 



Question not answered 
The correct option is "Chart Wizard"Score:- 4 

Question not answered 
The correct option is "Above or below the average student"Score:- 4 

Question not answered 
The correct option is "Network"Score:- 4 

Question not answered 
The correct option is "Lecture and class notes"Score:- 4 

Lecture and class notes 

Group work with a lecture 

Debate, discussions, practical 
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A(n) is a combination of hardware and software that facilitates the sharing 
of information between computing devices. 

Peripheral 

Digital device 

Expansion board 

Network 
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A student is 'Exceptional' when his performance is significantly . 

Similar to the average student 

Above the average student 

Above or below the average student 

Below the average student 
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What do you use to create a chart? 

Chart Wizard 

Data Wizard 

Excel Wizard 

Pie Wizard 
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A website address is a unique name that identifies a specific on the Web. 



Question not answered 
The correct option is "Ordinary"Score:- 4 

Question not answered 
The correct option is "Not only, but also"Score:- 4 

Question not answered 
The correct option is "Website"Score:- 4 

Link 

PDA 

Web Browser 

Website 

 

37 of 90 
111 AWES_Dec2015_Part A_Set 1 
General Aptitude 

 
In the following question, which of the following paired conjunctions will you use to combining the two 
sentences into one sentence? 

 
I. She will have to study hard. 
II. She will have to concentrate to do well on the exam. 

Either, or 

Both, and 

Not only, but also 

Neither, nor 
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Direction: Below the key word are given four suggested meanings. Choose the word or phrase 
which is most nearly the same to the keyword. 

 
BOURGEOIS 

Ordinary 

Aristocratic 

Lively 

Animated 
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The errors that can be pointed out by the compiler are:- 

Syntax error 

Internal error 

Logical error 

Symantic error 



Question not answered 
The correct option is "Geography"Score:- 4 
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Who among the following has been awarded for Global Vision Award 2010? 

Pranab Mukherjee 

Mukesh Ambani 

Ratan Tata 

Anil Aggarwal 
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Find (7x + 4y) ÷ (x-2y) if x/2y = 3/2. 

7 

6 

8 

Data insufficient 
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Which subject tries to understand the role of man in changing his environment? 

Geography 

Biology 

Political Science 

History 
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Direction: Choose the correct word which can be substituted for the given sentence. 

 
Extreme old age when a man behaves like a fool:- 

Senility 

Imbecility 

Question not answered 
The correct option is "7"Score:- 4 

Question not answered 
The correct option is "Mukesh Ambani"Score:- 4 

Question not answered 
The correct option is "Logical error"Score:- 4 



Question not answered 
The correct option is "CD-ROM"Score:- 4 

Question not answered 
The correct option is "Dotage"Score:- 4 

Dotage 

Superannuation 
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Compact disk that can store approximately 650-800 MB of data or 74-80 Min of music are . 

Floppy diskettes 

CD-ROM 

Zip disks 

Video cards 
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Find out which of the figures (1), (2), (3), and (4) can be formed from the pieces given in figure (X). 

 

 

2 

3 

1 

4 
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Which of the following committees has submitted its report on Telangana issue to Union Home Minister P. 
Chidambaram? 

Srikrishna Committee 

Achuthan Committee 

Kelkar Committee 

Shunglu Committee 
 Question not answered  

Question not answered 
The correct option is "1"Score:- 4 



Question not answered 
The correct option is "Leave the room without reading the test question"Score:- 4 

Question not answered 
The correct option is "All of the above"Score:- 4 

 The correct option is "Srikrishna Committee"Score:- 4  
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Why is teacher training necessary? 

Understand methods of school organisation 

Increase teaching skills 

Upgrade knowledge of content 

All of the above 
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Upon walking into the teachers workroom a student saw the test for tomorrow on the computer screen. 
Which of the following can the student ethically do? 

Leave the room without reading the test question 

Add a few well chosen questions that the teacher left out 

Correct obvious errors on the test to help the teacher avoid embarrassment 

Read the questions as a study guide 
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Which of the following diagrams indicates the best relation between Factory, Product and Machinery? 
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Question not answered 

The correct option is " "Score:- 4 
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Find out which of the figures (1), (2), (3) and (4) can be formed from the pieces given in figure (X). 

 

 

3 

4 

2 

1 
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Who among the following has been elected as new president of Indian Hockey Federation (IHF)? 

K.P.S Gill 

Vidya Stokes 

R. K. Shetty 

P. J. Thomas 
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The population of a town is 126800. It increases by 15% in the first year and decreases by 20% in the 
second year. What is the population of the town at the end of second year? 

135996 

145820 

174984 

116656 
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Read the following sentences. Find the sentence, in which adverbs modify the whole sentence rather 
than any particular word. 

Question not answered 
The correct option is "116656"Score:- 4 

Question not answered 
The correct option is "R. K. Shetty"Score:- 4 

Question not answered 
The correct option is "3"Score:- 4 



Question not answered 
The correct option is "To achieve learning objectives"Score:- 4 

Question not answered 
The correct option is "Aung San Suu Kyi"Score:- 4 

Question not answered 
The correct option is "to tolerate"Score:- 4 

This is a very sweet mango. 

Rekha reads quite clearly. 

Rekha runs quickly. 

Unfortunately no one was present there. 
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Direction: Which of the phrases given below the sentence should replace the phrase in bold to 
make the sentence grammatically correct? 

 
He is too important for tolerating any delay. 

at tolerating 

to tolerating 

to tolerate 

with tolerating 
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"Freedom from fear" is a book written by:- 

Benazir Bhotto 

Corazon Aquino 

Aung San Suu Kyi 

Nayantara Sehgal 
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What is the use of text book in a class? 

To achieve learning objectives 

To explain ideas and concepts 

To delimit what is to be taught 

Set new standards 

 

57 of 90 

Question not answered 
The correct option is "Unfortunately no one was present there."Score:- 4 



Question not answered 
The correct option is "Internal buses"Score:- 4 
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If a boat is moving in upstream with velocity of 14 km/hr and goes downstream with a velocity of 40 km/hr, 
then what is the speed of the stream? 

34 km/hr 

13 km/hr 

26 km/hr 

None of the above 
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How many mashes are there in 1 square meter of wire gauge if each mesh is 8mm long and 5mm wide? 

250000 

25000 

2500 

250 
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  connects the CPU to various internal components and to expansion cards for graphics and 
sound. 

RAM 

BIOS 

Chipset 

Internal buses 
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You are training in public speaking and debate. Which of the following characteristics can you not expect 
to develop? 

Using language creatively 

Concept 

Voice modulation 

Control over emotions 

Question not answered 
The correct option is "25000"Score:- 4 

Question not answered 
The correct option is "13 km/hr"Score:- 4 



Question not answered 
The correct option is "Choose Insert, Header and Footer, click Slide tab, select the desired options, click 
Apply to All."Score:- 4 

Question not answered 
The correct option is "India"Score:- 4 

Question not answered 
The correct option is "Somniloquist"Score:- 4 
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Direction: In the following question, the descriptive sentence is aptly described by just one word. 
Select the choice which gives the meaning most appropriately. 

 
One who talks in his sleep? 

Somniloquist 

Somnambulist 

Somnalesist 

Somnivocalist 
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According to the World Migration Report, which country topped the list of countries of origin of migrant 
doctors in OECD countries? 

India 

China 

Germany 

Guyana 
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What is the best way to have a data and the slide number appear on every slide? 

Choose Tools, Header and Footer, click Slide tab, select the desired options, click Apply to All 

Choose Insert, Header and Footer, click Slide tab, select the desired options, click Apply to All 

Choose View, Header and Footer, click Slide tab, select the desired options, click Apply to All 

Choose File, Header and Footer, click Slide tab, select the desired options, click Apply to All 
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  are used to measure both computer memory (RAM) and storage capacity of Floppy disks, 
CD-ROM drives and hard Drives. 

Question not answered 
The correct option is "Control over emotions"Score:- 4 



Question not answered 
The correct option is "Throughout the instructional process"Score:- 4 

Question not answered 
The correct option is "Personality and its ability to relate to the class and to the pupils"Score:- 4 

Question not answered 
The correct option is "from "Score:- 4 

Octal numbers 

Binary numbers 

Bytes 

Bites 
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Fill in the gap with suitable preposition. 

Ram died fatigue. 

from 

of 

for 

in 
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Which of the following is the most important single factor in underlying the success of being a teacher? 

Personality and its ability to relate to the class and to the pupils 

Organisational ability 

Scholarship 

Communicative ability 
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When is the best time to evaluate a student's performance? 

When the instruction have ended 

Throughout the instructional process 

Only at the end of major units of instruction 

When the instruction have begun 
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Question not answered 
The correct option is "Bytes"Score:- 4 



Question not answered 
The correct option is "Operating System"Score:- 4 

Question not answered 
The correct option is "Setting tasks which have to be done together"Score:- 4 

Question not answered 
The correct option is " File "Score:- 4 

Question not answered 
The correct option is "Stockholm"Score:- 4 

General Aptitude 
 

Nobel Prizes are distributed annually at:- 

Geneva 

New York 

Manila 

Stockholm 
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What menu is selected to print? 

File 

Special 

Edit 

Tools 
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You have a mixed class of boys and girls. Which method would you adopt to improve co-operation 
between them? 

Asking parents to discuss equality 

Talking about equality in lessons 

Setting tasks which have to be done together 

Making boys and girls share a bench 
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Which type of software manages the computer's processes functioning as an interface, connecting user, 
the application software, and the hardware? 

System Software 

Translator programme 

Operating System 

Utility Programme 



Question not answered 
The correct option is "Evaluate his teaching method and improve it"Score:- 4 

Question not answered 
The correct option is "ARPANET"Score:- 4 
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If majority of students in your class are weak you should:- 

Keep your speed of teaching fast so that students comprehension level may increase 

Keep your teaching slow 

Not care about the intelligent students 

Keep your teaching slow along with some extra guidance to bright pupils 
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The first network that initiated the internet was? 

Vnet 

ARPANET 

Inet 

NSFNet 
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A teacher who is not able to draw the attention of his students should:- 

Start dictating 

Find fault in his pupils 

Evaluate his teaching method and improve it 

Resign from the post 
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Arrange the following teaching process in order. 

 
i) Relating the present knowledge with the previous knowledge 
ii) Evaluation 
iii) Re teaching 
iv) Formulating objectives 
v) Presentation of materials 

(i), (ii), (iii), (iv), (v) 

Question not answered 
The correct option is "Keep your teaching slow along with some extra guidance to bright pupils"Score:- 4 



Question not answered 
The correct option is "Four"Score:- 4 

Question not answered 
The correct option is "Boredom caused by repetitiveness"Score:- 4 

Question not answered 
The correct option is "Anarchist"Score:- 4 

(ii), (i), (iii), (iv), (v) 

(v), (iv), (iii), (i),(ii) 

(iv), (i), (v),(ii), (iii) 
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Direction: In the following question, the descriptive sentence is aptly described by just one word. 
Select the choice which gives the meaning most appropriately. 

 
A person who creates disorder in a state:- 

Rebel 

Fifth Columnist 

Militant 

Anarchist 
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Talking and indiscipline in classroom is an indication of . 

Boredom caused by repetitiveness 

Confusion about things taught 

Not summarising lecture points 

Indiscipline students 
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How many strings does a violin have? 

Two 

Five 

Three 

Four 
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Question not answered 
The correct option is " (iv),(i) ,(v),(ii),(iii)"Score:- 4 



Question not answered 
The correct option is "Kerala"Score:- 4 

Question not answered 
The correct option is "Real life situations"Score:- 4 

General Aptitude 
 

The correct passive voice of the given sentence is:- 

Will anyone believe your story? 

Will your story be believed by anyone? 

Will your story having been believed by anyone? 

Will you be believed for story by anyone? 

Will your story to be believed by anyone? 

 
80 of 90 
170 AWES_Dec2015_Part A_Set 1 
General Aptitude 

 
Field study is related to:- 

Experimental situations 

Real life situations 

Laboratory situations 

None of the above 
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Which educational psychologist believed in the fact that 'All children have the potential to learn'? 

Maria Montessori 

Johann Friedrich Herbart 

John Dewey 

Friedrich Frobel 
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'Mohiniyattam' is a classical dance from the Indian state of . 

Kerala 

Assam 

Arunachal Pradesh 

Odisha 

Question not answered 
The correct option is "Friedrich Frobel"Score:- 4 

Question not answered 
The correct option is "Will your story be believed by anyone?"Score:- 4 



Question not answered 
The correct option is "Keyboard"Score:- 4 

Question not answered 
The correct option is "He behaves as if he was a king."Score:- 4 
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Identify the incorrect sentence. 

The patient had died before the doctor arrived. 

Read regularly lest you should fail. 

Bread and butter makes a good breakfast. 

He behaves as if he was a king. 
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  is the standard input device of most computers. 

Joystick 

Scanner 

Speaker 

Keyboard 
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The Government has launched a scheme SABLA for empowerment of adolescent girls in the age group 
of:- 

a) 10 - 14 year 

b) 11 - 15 year 

c) 15 - 18 year 

d) Both (b) & (c) 
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Recently, the government has approved the establishment of India's first National Centre for Molecular 
Materials (NCMM) in which of following states? 

Rajasthan 

Maharashtra 

Kerala 

Question not answered 
The correct option is "d) Both (b) & (c)"Score:- 4 



Gujarat 
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The list price of a book is 100. A dealer sells three such books for 274.50 after allowing a discount at 
a certain rate. Find the rate of discount? 

8.33% 

8.34% 

8.5% 

8.16% 
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Select a suitable figure from the four alternatives that would complete the figure matrix. 

 

 

4 

2 

3 

1 
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Which of the following countries has been elected as Vice-President of UNCTAD? 

India 

China 

Question not answered 
The correct option is "2"Score:- 4 

Question not answered 
The correct option is "8.5%"Score:- 4 

Question not answered 
The correct option is "Kerala"Score:- 4 



Question not answered 
The correct option is "Developing the ability to make the intelligent choice of jobs "Score:- 4 

Question not answered 
The correct option is "India"Score:- 4 

Indonesia 

Philippine 
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The introduction of career courses in schools and colleges aims at:- 

Developing the ability to make the intelligent choice of jobs 

Increasing G.K. in students 

Providing professional knowledge to students 

All of the above 
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